COLLUSION HYPOTHESIS

Let 

(Bi, Ai) = the bid and ask price of dealer i;

Max (Bi) = market inside bid; and  

Min (Ai) = market inside ask.

Then

Inside spread  = Min (Ai) - Max (Bi). 

Example: 

Dealer 1: (10 5/8, 10 7/8), dealer spread = 2/8

Dealer 2: (10 4/8, 10 6/8), dealer spread = 2/8

Dealer 3: (10 4/8, 10 7/8), dealer spread = 3/8

Max (Bi) = 10 5/8

Min (Ai) = 10 6/8

Inside spread = 10 6/8 – 10 5/8 = 1/8

Can dealers maintain a $ 1/4 inside spread for a stock by agreeing to quote bid-ask spreads that are no less than $1/4?

Dealer 1: (10 4/8, 10 6/8), dealer spread = 2/8

Dealer 2: (10 2/8, 10 7/8), dealer spread = 5/8

Inside spread = 10 6/8 – 10 4/8 = 1/4

Dealer 1: (10 5/8, 10 7/8), dealer spread = 2/8

Dealer 2: (10 4/8, 10 6/8), dealer spread = 2/8

Inside spread = 10 6/8 – 10 5/8 = 1/8

Is there any tactic through which dealers can maintain a $1/4 inside spread? 

Yes, if they agree to quote only in even eighths or odd eighths!

Only in even eighths

Dealer 1: (10 2/8, 10 6/8), dealer spread = 4/8

Dealer 2: (10 4/8, 10 8/8), dealer spread = 4/8

Inside spread = 10 6/8 – 10 4/8 = ¼

Dealer 1: (10 2/8, 10 6/8), dealer spread = 4/8

Dealer 2: (10 4/8, 10 6/8), dealer spread = 2/8

Inside spread = 10 6/8 – 10 4/8 = ¼

Only in odd eighths

Dealer 1: (10 3/8, 10 7/8), dealer spread = 4/8

Dealer 2: (10 1/8, 10 5/8), dealer spread = 4/8

Inside spread = 10 5/8 – 10 3/8 = ¼

Dealer 1: (10 3/8, 10 7/8), dealer spread = 4/8

Dealer 2: (10 3/8, 10 5/8), dealer spread = 2/8

Inside spread = 10 5/8 – 10 3/8 = ¼

